PreCalculus
Review 2 unit 4 Matrices





Name________________________

1.  What are the dimensions of :
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2.  
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3.  
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4.  Find A-1  if  A  =  
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5.  Solve:  
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6.  Solve:  
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7.  
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8.  
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9.  Solve:  
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10.  Solve for w, x, y:
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11.  Solve using augmented matrices without a calculator.(separate sheet)

a)  
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b)  
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12.  Solve using matrix equations:
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13.  Solve using cramer’s rule.
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14.  What is I2x2?

15.  A = 
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B = 
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a)  2B + A



b)  4B – A 

c)  A –1

d)  B2
16.  If  C ( H6x1 =  E2x1  , what are the dimensions of C?

17.  Give an example of a matrix whose determinant is zero.

18.  What is B2x2 ( B-12x2  =  _____.

19.  Suppose  Dexf   and Gjxb.  If D + G exists,  then  e  =  ___,  and  f  =  _____

20.  If  A  =  
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.  What is A23?

21.  Solve using a calculator.  
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22.  What is I4x4?

Answers to Review #2

Matrices

1.a)  3 x 2

b)  2 x 1

c)   1 x 4 

d)    2 x 5

2.  
[image: image22.wmf]
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5.  X  =  
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6.  X = 
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7.  Undefined (not possible)

8.  
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9.  X = 
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10.  w = -2, x = -3, y = 1

11. a) 
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11.b)  
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12.  
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13.  
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15.  a)  
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d)  
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16.  2 x 6

17.  answers will vary  ex.   
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19.  e = j  and  f  =  b
20.  7

21.  
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22.  
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